Here, we will find the equivalent resistant at terminals A and B.
Start in the upper left part of the circuit.

The 4 k-ohm resistors are in parallel because the voltage across them is the same.

The equivalent resistance is one half a single resistance for two equal, parallel resistors.

We verify by taking the reciprocal of each resistance, adding them together, and taking the reciprocal of the result.

Now combine the 3 and 6 k-ohm parallel resistors by adding the reciprocal resistances and then taking the reciprocal of that result.

We can also combine by dividing their product by their sum.

The 10 and 40 k-ohm resistors are also in parallel, for they share the same pair of nodes.

Calculate the equivalent resistance as before.

Now combine the two 2 k-ohm parallel resistors.

Now we redraw the circuit by realizing that terminals c and d are connected together and are simply one single node.

Drag c to the right hand side and combine with d.

Now we see that the 2 k-ohm resistors are in parallel.

Combine those as before.

The 1 and 8 k-ohm resistors are also in parallel.

Combine those as before.

The 1 k-ohm and 889 ohm resistors are in series, so add their resistances to get the final equivalent resistance.
